NFPA

DOJ3
DION!
DOS
DOS
DOS

D05

DO/
DO/

D08
DO8

DO8

D10
D10

WEB SITE: www.med—kas.com
SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE

BAR MANIFOLDS

STYLE

PARALLEL CIRCUIT
SERIES CIRCUIT
PARALLEL CIRCUIT
SERIES CIRCUIT
PARALLEL CIRCUIT
OVERSIZED PORTING
PARALLEL CIRCUIT
FLANGE CONNECTIONS
PARALLEL CIRCUIT
PARALLEL CIRCUIT
FLANGE CONNECTIONS
PARALLEL CIRCUIT
PARALLEL CIRCUIT
OVERSIZED PORTING
PARALLEL CIRCUIT
FLANGE CONNECTIONS
PARALLEL CIRCUIT
PARALLEL CIRCUIT
FLANGE CONNECTIONS

MED—KAS HYDRAULICS, INC.
P.O0. BOX 1163 1419 JOHN R
TROY, MI. 48099 TROY, MI. 48083

TEL: 248-585-3220 FAX # 248 585-0646
E—MAIL: info@med—kas.com 5_,[

PAGE NO.

1

On OO O OO
I
OO NN

| |
O 00~

1 On O On
|




DO8 PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE

MK*CV—20—16—*—*—*—x

MOUNTING KITI‘
NO. OF VALVES

D08 DESIGNATION
PR & TANK PORT SIZE

D (Y) PORT IS STANDARD
T— INDIVIDUAL X PORTS

ARE AVAILABLE AS AN
OPTION BY ADDING AN X
AT THE END OF THE
PART NUMBER

CONNECTION TYPE yALVE MOUNTING

P — NPTF _
CJ:TEISIEE SIZE P N e $1/2—13 THREADS
M — ISO 6149
S — STEEL BSPP — BSPP }M12x1.75 THREADS
VALVE SPACING
3 — 529
7 — 7.00
SPECIFICATIONS
"B”_DIMENSION
NO. OF STATIONS 1 2 3 4 5 6 7 8
"A” 5.25 CENTERS 5.50 | 10.75 | 16.00 | 21.25 | 26.50 | 31.75 | 37.00 | 42.25
N 7.00 CENTERS _ 12.50 | 19.50 | 26.50 | 33.50 | 40.50 | 47.50 | 54.50

0'50 -t "_0.87 9 ¥ 0‘ 0

D450, 5e0 0.4y — Wp__iﬂ 250y 450 f

] ) o 22

1¢O®1j22 o ® o ® o ® © o1 N\

253 © ® e » e G e ® \ )
e TTO 0 O eed e O e,
(D @ e GO e (O e O e (O | ( @
5.56 ® @ @ @

5.50) E{M | @ ® @ ® @ ® @ ® 51‘1 5.50
Heo 0@ 6.00,- 4@ ® © © © ® 0 @ @0 o'
=2.31 23T

2.12— A" TYP-

PR & TK| A & B GAGE D

SAE THREAD| 1.625-12 | 1.312-12 | .437-20 | .562-18
NPTF 1.25—-11.5 |1.00-11.5} .250-18 | .250-18
6149 M42x2 M33x2 M12x1.5 | M16x1.5
BSPP 1.25x11 1.00x11 .250x19 .500x14

STANDARD FEATURES INCLUDE:
GAGE PORT WITH PLUG INSTALLED
(SAE AND NPT MANIFOLDS ONLY)
MOUNTING KIT CONSISTS OF:

2 BRACKETS

4. .500-13 HEX BOLTS
4. LOCK WASHERS

.531 DIA

RELIEF CAVITY

2 PLACES

THRU
.531 DIA THRU
2 PLACES

g
2]

OPTIONAL FEATURES AVAILABLE: otz

MED—KAS HYDRAULICS, INC.

P.O. BOX 1163

TROY, MI. 48099

TEL: 248-585-3220

WEB SITE: www.med—kas.com

o—10

1419 JOHN R

TROY, MI. 48083

FAX # 248 585-0646
E—MAIL: info@med—kas.com

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




DO8 PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MK*CV— 24-g|(_)__*__“3=_‘_f**

MOUNTING KIT
NO. OF VALVES

D08 DESIGNATION

MODEL CODE
- T

CONNECTION TYPE

PR & TANK PORT SIZE

P — NPTF }
—T — SAE THREAD

CYL PORT SIZE

M — ISO 6149

MATERIAL
BSPP — BSPP

S — STEEL VALVE SPACING
5 — 5.25
7 — 7.00

SPECIFICATIONS

"B”_DIMENSION
3 4 5

Y PORT IS STANDARD
INDIVIDUAL X PORTS
ARE AVAILABLE AS AN
OPTION BY ADDING AN X
AT THE END OF THE
PART NUMBER

VALVE. MOUNTING
1/2—13 THREADS

E M12x1.75 THREADS

NO. OF STATIONS 1 2 6 7 8
% 5.25 CENTERS 5.50 | 10.75 | 16.00 | 21.25 | 26.50 | 31.75 | 37.00 | 42.25
7 A" 7.00 CENTERS 12.50 | 19.50 | 26.50 | 33.50 | 40.50 | 47.50 | 54.50
0.31 0.879 _| - T " 0.31
I g— —3.00 1 [—1.25 —— A TYP——y 3.00 = 5.68 -+ {
Te O s ,———é ) ® e © ) A P
® ® ® @ ® e ® (1)
® e (®» e (» e ®
= o0 © o O o O o O =
® 6.43 O 6" O 6% O o° O o° 6.43 ®
6.68 . " 6.68
e ®@— 79 ° - il © ° ° | H—@® o
=2.75 2. 5=
2.62 — “AZ
1.18
©e ©° ©
3.62
4.81 @
O PO O O
S.Cilﬂ %
— [
2.00 412
PR & TK| A & B | GAGE DR e s [ i, o
SAE THREAD| 1.625-12 | 1.312-12 | .437-20 .562-18 r? ﬁ_{
NPTF 1.25-11.5 [1.00-11.5] .250-18 .250-18
6149 M48x2 M42x2 | M12x1.5 | M16x1.5 343 DIA THRU .343 DIA THRU
BSPP 1.25x11 1.00x11.5 | .250x19 500x14 2 PLACES 2 PLACES
STANDARD FEATURES INCLUDE:
GAGE PORT WITH PLUG INSTALLED 6.68]_'; 7.00 )_siss
(SAE AND NPT MANIFOLDS ONLY) = L
MOUNTING KIT' CORBISTS OF: OPTIONAL FEATURES AVAILABLE: e "
2 BRACKETS RELIEF CAVITY ' Z'JL
4, ,500-13 HEX BOLTS 0.12
4. LOCK WASHERS
MED—KAS HYDRAULICS, [INC.
P.0. BOX 1163 1419 JOHN R
TROY, MI. 48099 TROY, MI. 48083
TEL: 248-585-3220 FAX # 248 585-0648
WEB SITE: www.med—kas.com E—MAIL: info@med—kas.com 5_’| ’I

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




DO8 PARALLEL C

IRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL

MK*CV—10—-8—

NO. OF VALVES* —T
D08 DESIGNATION
PR & TANK PORT SIZE

il

CODE
2-7—F—*
L connecrion Tve

F — SAE 3000# FLANGE
VALVE SPACING

7 — 7.00
CYL. PORT SIZE MATERIAL
S — STEEL
SPECIFICATIONS
"B” DIMENSION
NO. OF STATIONS 2 3 4 5 6 7 8
"A” 7.00 CENTERS 13.25 1 20.25127.25| 34.25 | 41.25 | 48.25 | 55.25
MTG. HOLES USED 2 MTG HOLES PROVIDED ON EACH END
IBI‘
~1.25[~ .
05L ~—5.50 |—3.00 | A" TYP.
&G T@O@ '-?3"003——4) ® ® ® ® ® ® ®
@0 ® ® ® ® ® ® ® ®
® @0 ® @6 ® @6 ® @6
©, ~0 [ o} ® ® ®
@ i
P@ ® @ ® ° @ @ ? @ ® ° @ @ °
7.50 — 6-f9 © ® (c] ® ® ® ®
Y
J—@ D 8.004
-—2.31
2.44—|  5.94— "A” TYP.
1.25 B B B B
i @f ® ® ® ® ® @® ®
Y PORT IS STANDARD &) ©) ©) ®
INDIVIDUAL X PORTS 390 i il B S il L
ARE AVAILABLE AS AN s
OPTION BY ADDING AN X
AT THE END OF THE 4‘E_@@@ G’@‘*’ G’@‘*’ @’@@
PART NUMBER 60 o0 o e o~ e oo
STANDARD FEATURES INCLUDE:
GAGE PORT WITH PLUG INSTALLED 050, 100 W06 55D
MOUNTING KIT CONSISTING OF: 1k '—'@ {
2 BRACKETS OPTIONAL FEATURES AVAILABLE: Tﬁ’ AT
4. .500—-13 HEX BOLTS RELIEF CAVITY 531 DIA THRU
4. LOCK WASHERS METRIC THREADS 2 PLACES 531 DIA THRU
x NUMBER OF STATIONS TO SUIT 2 PLACES
7.50 p
PR & TK| A & B D GAGE L}g B @J
SAE FLANGE 1.250 1.000 .562-18 | .437-20 f— r—
1.50 1.50
MED—KAS HYDRAULICS, INC. Lr“’-‘z
P.O. BOX 1163 1419 JOHN R
TROY, MI. 48099 TROY, MI. 48083

TEL: 248-585-3220
WEB SITE: www.med—kas.com

SPECIFICATIONS SUBJECT TO

o5—12

FAX # 248 585-0646
E—MAIL: info@med—kas.com

CHANGE WITHOUT NOTICE




D10 PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS
MODEL CODE :
MK*D—24—20—*—*—*
NO. OF VALVESﬂ L connecTION TYPE

D10 DESIGNATION P — NPTF

T — SAE THREAD
PR & TANKC\P/E,RLOSI%ESIZE VALVE SPACING

8 — 8.00
“— MATERIAL

A — ALUMINUM
S — STEEL

SPECIFICATIONS

"B” DIMENSION

NO. OF STATIONS 2 3 4 5 6 7 8

|"A" 8.00 CENTERS 16.25 | 24.25 | 32.25 | 40.25 | 48.25 | 56.25 | 64.25
-
- |-1.00 A" TYP

| [~550 [-3.00 |

0.50 @ = 0.7IS @ @
@
®

C,
©

@.
@ @ @
©
oo | O

- ©
©
7.63 @ &

i D) 2 s.000 O : ®

—-2.38

2.38—

Y PORT IS STANDARD ‘i @ 8
INDIVIDUAL X PORTS

ARE AVAILABLE AS AN 6.38 3.00
OPTION BY ADDING AN X

AT THE END OF THE G
4.81

PART NUMBER bl
6.00 A A A

PR & TK| A & B D GAGE
SAE THREAD [ 1.875—12|1.625—12 | .750—-16 | .437—-20
NPTF 1.500-11.51.250—11.5] .500-14 | .250-18 0-50] iy
T

0
STANDARD FEATURES INCLUDE:  OPTIONAL FEATURES AVAILABLE: @g
GAGE PORT WITH PLUG INSTALLED RELIEF CAVITY 5351 Bik THRL >7

.00 1.

o

0.50
[
T

MOUNTING KIT CONSISTING OF: BSPP,BSPT, OR 2 PLACES 531 DIA THRU
2 BRACKETS METRIC THREADS 2 PLACES

4. .500—-13 HEX BOLTS * NUMBER OF STATIONS TO SUIT
4. LOCK WAHSERS 850

o7

G{_ijo
—

MED—KAS HYDRAULICS, INC. ' B 0%

w
o
(5]

P.0. BOX 1163 1419 JOHN R

TROY, MI. 48099 TROY, MIl. 48083 94

TEL: 248-585-3220 FAX # 248 585-0646
WEB SITE: www.med—kas.com E—MAIL: info@med—kas.com 5 1 3

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




D10 PARALLEL

CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE
K*D—12—‘IO

NO. OF VALVES
D10 DESIGNATION

PR & TANK PORT SIZE

CYL. PORT SIZE

CONNECTION TYPE

F — SAE 3000# FLANGE

VALVE SPACING
MATERIAL

— STEEL
SPECIFICATIONS
"B” DIMENSION
NO. OF STATIONS 2 3 4 S 6 7 8
"A” 8.00 CENTERS 17.00 | 25.00 | 33.00 | 41.00 | 49.00 | 57.00 | 65.00
I ’g” §
0.50y |—7.50 ~—4.00 _—l —1.38 —"A" TYP.— |
1o 1.75
) ® 2.63 Q@ 0 © 0 © 0 (©)
Kl
= . o - G e o - 0
© (0] Q © © (0] O (0]
P 7.00
zCBZ “i 0@ Os O@ Oo o@ Oo o@ Qo
9.75 ® ® ® ®
10.5£0 @@D ) 11.90 © © 0 © 0 O 0 0}
1 3.38— —"A" TYP.
175 PN e e e e 0 0
Y PORT IS STANDARD e~ 7.00 eoo oo e®e
INDIVIDUAL X PORTS 4.75
ARE AVAILABLE AS AN
OPTION BY ADDING AN Xx 825 = d 00 °o0 °5®
AT THE END OF THE ()
PART NUMBER iy e e~ e~e =
PR & TK| A & B D GAGE 1.00 1.00
| SAE FLANGE | 1.500 1.250 | .750—16 | .437-20 0'50'} - = | 0-50
STANDARD FEATURES INCLUDE: 5) ®
GAGE PORT WITH PLUG INSTALLED f \ '
MOUNTING KIT CONSISTING OF: 531 DIA THRU
2 BRACKETS 2 PLACES 531 DIA THRU
4. .500-13 HEX BOLTS 2 PLACES
4, LOCK WASHERS
OPTIONAL FEATURES AVAILABLE: 10.50 10.50
RELIEF CAVITY J_% 11.00 é_
METRIC THREADS i
* NUMBER OF STATIONS TO SUIT = ™
1.50 1.50
MED—KAS HYDRAULICS, INC. [0.12
P.O. BOX 1163 1419 JOHN R
TROY, MI. 48099 TROY, MI. 48083

TEL: 248-585-3220
WEB SITE: www.med—kas.com

SPECIFICATIONS SUBJECT

o—14

FAX # 248 585-0646
E—-MAIL: info@med—kas.com

TO CHANGE WITHOUT NOTICE




D03 PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE

MK*BY—12—8—*—*—*

MOUNTING KITI‘
NO. OF VALVES

L

CONNECTION TYPE \aAlVE MOUNTING
}10—24 THREADS

P — NPTF

§ M5x.8 THREADS

T — SAE THREAD
DO3 DESIGNATION M — ISO 6149
PR & TANK PORT SIZE BSPP — BSPP
CYL PORT SIZE VALVE SPACING
2.000
MATERIAL
S — STEEL 4.000
SPECIFICATIONS
"B” DIMENSION
NO. OF STATIONS 1 2 3 4 5 6 7 8
N 2.00_CENTERS 325 | 4.75 | 6.75 | 8.75 | 10.75 | 12.75 | 14.75 | 16.75
A 4.00_CENTERS 8.75 | 12.75 | 16.75 | 20.75 | 24.75 | 28.75 | 32.75
031 |=3.19.4=1.75 0.75— |
AN 0.72
O /2 !——l
k4
]
3?0 T
072~ |-

2.75 :
3%‘6‘@
l @ 5

PR & TK| A & B GAGE r0.31
SAE THREAD| 1.062-12 | .750-16 | .437—20 ~+ 1'19';\

NPTF .750-14 | .500-14 | .250-18 f =~ Y I

6149 M27x2 M18x1.5 M12x1.5 343 DIA THRU \

BSPP -750x14 | .500x14 | .250x19 2 PLACES —< .343 DIA THRU
STANDARD FEATURES INCLUDE: 510\ //3 o 2 PLACES
GAGE PORT WITH PLUG INSTALLED 'J——{f) 3.50 @__1
(SAE AND NPT MANIFOLDS ONLY) e | i
OVERSIZED PORTING ’ . l
MOUNTING KIT CONSISTS OF:

2 BRACKETS OPTIONAL FEATURES AVAILABLE: 0_12J
4, .312-18 HEX BOLTS RELIEF CAVITY
4. LOCK WASHERS 7]

9—2

TEL: 248-585-3220
WEB SITE: www.med-kas.com

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE

MED—KAS HYDRAULICS, INC.

P.O. BOX 1163
TROY, MI. 48099

E—MAIL:

1419 JOHN R
TROY, MI. 48083

FAX # 248 585—0646
info@med—kas.com




DO3 SERIES CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL

CODE

MK*BY—8—B—5—*—*5ER

NO. VALVES *—T
D03 DESIGNATION
PR & TANK PORT SIZE

DESIGNATES SERIES CIRCUIT
(OMIT FOR PARREL CIRCUIT)

CONNECTION TYPE
T — SAE THREAD

P — NPTF
CYL. PORT SIZE—
— VALVE SPACING
MATERIAL —mm 2 — 2.00
S — STEEL
SPECIFICATIONS
"B” DIMENSION
NO. OF STATIONS 2 3 4 5 6 7 8
"A” 2.00 CENTERS 4.63 6.63 | 863 |10.63]12.63]|14.63 | 16.63
MTG. HOLES USED AS SHOWN
g
- — 0.69 L
B R Py
0.66
0_3'; 1.50 l ° l e l e e ee o o oL |[150 5!31
@[. ® ® ® ® ® ® @
® &6 ©® ® o & oo © 6 6 o e
2.69 -4 & 2 ® -4 ® i~ ® -4 ® - ® T 2.69
}__0 p 3‘?0 T e ©o ® © o © o © e o [::] 0-
- |—0.66
1.38—| |— "R —|
0.63]_ B B B B B
e © ©
o)
2.?8 G
©), ©, ©. A ©), ©.
— —0.63
PR & TK| A & B GAGE
SAE THREAD | .750-16 | .750-16 | .437-20 | 4,
NPTF 500—14 | .500—-14 | .250—18 “!*’: RLETN
STANDARD FEATURES INCLUDE: )i d—ﬁ'
PLUG INSTALLED IN GAGE PORT /
MOUNTING KIT CONSISTS OF: .343 DIA TW >_.343 DIA THRU
2. BRACKETS 2 PUCES 269\ / 2.69 2 PLACES
4. .312—-18 HEX BOLTS e 390 St
4. LOCK WASHERS — -
1
{31.131r
MED—KAS HYDRAULICS, INC.
P.O. BOX 11863 1419 JOHN R .
TROY, MI. 48099 TROY, MI. 48083
TEL: 248-585-3220 FAX # 248 585-0646
WEB SITE: www.med—kas.com E—MAIL: info@med—kas.com 5 5

SPECIFICATIONS SUBJECT TO

CHANGE WITHOUT NOTICE




DOS PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE
MK*A—12—8—*—*_*
MOUNTING KET‘—I_‘ ‘ CONNECTION TYPE VALVE MOUNTING
P — NPTF
DOSNCE))‘E;{ZN:?I[?;[ES R /4720 THREADS
M 5150 81482 w1 THREADS
PR & TANK PORT SIZE -
CYL PORT SIZE VALVE SPACING
3 — 3.25
MATERIAL —
S — STEEL 5 5.00
SPECIFICATIONS
"B” DIMENSION
NO. OF STATIONS 1 2 3 4 5 6 7 8
A" 3.25 CENTERS 4.00 6.50 9.75 | 13.00 | 16.25 | 19.50 | 22.75 | 26.00
A" 5.00 CENTERS 8.25 | 13.25 | 18.25 | 23.25 | 28.25 | 33.25 | 38.25
lé—m -1.75 - - —0.72 . A" T?’P . 5 &.;5:;.19—&}{
: 0.94 o.
ox] @@\ ' LJ@ ° l@ ° l@ ° oo o| /© Lo
2.37 ®® @@ ®® @@ 2.37
3.19 ® ® ® ® ] 319
e ® 3'?0 e ® ® ® e e e ® ® ot
m 1‘68__ "A" nP»
V] ® ® ) ®
1.75
2.75
. @ @ @
751
0.31
PR & TK A & B GAGE p=r> "9“‘;5 ‘
SAE THREAD| 1.062—12=12T | .750-16=8T | .437-20 ¥ \?31
NPTF 750-14=12 .500—-14=8 .250-18 ‘234|53LA%QSTHRU 9 .343 DIA THRU
< > 2 PLACES
6149 M27x2=12T M18x1.5=8T | M12x1.5
BSPP 750x14=12 500x14=8 250x19 3j1:‘ 3.50 (fig
- s - 3.504 LD i @
1.50~ 1.50—
[D.12
STANDARD FEATURES INCLUDE: T
GAGE PORT WITH PLUG INSTALLED
(SAE AND NPT MANIFOLDS ONLY)
MOUNTING KIT CONSISTS OF:
2 BRACKETS OPTIONAL FEATURES AVAILABLE:
4. .312—18 HEX BOLTS RELIEF CAVITY
4, LOCK WASHERS
MED—KAS HYDRAULICS, INC.
P.0. BOX 1163 1419 JOHN R
TROY, MI. 48099 TROY, MI. 48083
TEL: 248-585-3220 FAX # 248 585-0646
5 4 WEB SITE: www.med—kas.com E—MAIL: info@med—kas.com

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




DOS SERIES CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE
MK*A—12~8~F—*—%5FR

NO. OF VALVES*—H
D05 DESIGNATION

PR & TANK PORT SIZE
CYL. PORT SIZE —

CONNECTION TYPE
P — NPTF
T — SAE THREAD

— VALVE SPACING

"L DESIGNATES SERIES CIRCUIT
(OMIT FOR PARALLEL CIRCUIT)

MATERIAL
S — STEEL 3 — 3.25
5 - 5.00
SPECIFICATIONS
"B” DIMENSION
NO. OF STATIONS 2 S 4
"A” 3.25 CENTERS 6.25 | 9.50 [12.75
"A” 5.00 CENTERS 8.00 [ 13.00|18.00
MTG.HOLES USED AB AB A,B
-
0313 =3.19 | - [~059 =" ™. — ! 3.19— {031
® 0.75] ]
P AT L@@ ® l@@ e l@@ @ e@,@ e—ifa . i
—1.75 ® ® ©) ® 2.38
3.19 ® ® ® ® —@ % 44
3501 _lg ° e o o o e o ® A %
| 1.56— |-—"A" TYP. —l 0.88— j—
T 'O O '@
T ®
cl1.75
2.75 @ I
]
PR & TK| A & B GAGE 0.31 1.19 _
SAE THREAD [1.062—12].750-16 | .437-20 \*—m - el
NPTF .750—14 | .500—14 | .250—-18 t /V =1
STANDARD FEATURES INCLUDE: R \
PLUG INSTALLED IN GAGE PORT 2 PLACES .343 DIA THRU
MOUNTING KIT CONSISTS OF: 2 PLACES
2. BRACKETS
4. .312—18 HEX BOLTS ﬁg 350 @/~—3E
4. LOCK WASHERS }
1.50 = 1.50 —
0.12 T
MED—KAS HYDRAULICS, INC.
P.O. BOX 1163 1419 JOHN R

TRQY, MI. 48099
TEL: 248-585-3220
WEB SITE: www.med—kas.com

TROY, MI. 48083
FAX # 248 585-0646
E—MAIL: info@med—kas.com

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




DO5 PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE
MK*A—16—12-S—3-T
MOUNTING KIT——l_ ' .
CONNECTION TYPE VALVE MOUNTIN
NO. OF VALVES
T — SAE THREAD¢1/4—20 THREADS
D05 DESIGNATION P — NPTF E/
M — ISO 6149
PR & TANK PORT SIZE BSPP - BSPP §M6x1 THREADS
CYL PORT SIZE VALVE SPACING
MATERIAL .y
> — STEEL SPECIFICATIONS
"B” DIMENSION
NO. OF STATIONS 1 2 3 4 5 6 7 8
A" 3.25 CENTERS 4.00 7.00 10.25 | 13.50 | 16.75 | 20.00 | 23.25 | 26.50
A" 5.00 CENTERS 8.68 13.68 | 18.68 | 23.68 | 28.68 | 33.68 | 38.68
"a". 0.31
0'31] = 3.68 —2.00 — =—0.93 A" TYPIB—-i 2.00ey 3.68- |
I
@ [::] 0@ [::] @ @ 0@ [::]
® ® _ © ® ®
® ® ®
® ® ® ®
4.68 [::] [::] [::] [::] [::] [::] [::] [:]
|

OPTIONAL PORTING NOT SHOWN:
INDMDUAL X, Y, AND L PORTS
TO ACCOMODATE DOSH VALVES

SEE PAGE 5-14
PR & TK A& B GAGE
SAE THREAD| 1.312—-12=16T | 1.062-12=12T | .437-20
NPTF 1.312-12=16 1.062—-12=12 | .437-20
6149 M33x2=16T M27x2=12T M12x1.5
BSPP 1.25x11=16 .750x14=12 .250x19

STANDARD FEATURES INCLUDE:
GAGE PORT WITH PLUG INSTALLED
(SAE AND NPT MANIFOLDS ONLY)

OVERSIZED PORTING
MOUNTING KIT CONSISTING OF:

2 BRACKETS
4. .312—-18 HEX BOLTS
4. LOCK WASHERS

.343 DIA THRU
2 PLACES

g 5.00
t

E—

1.50~

OPTIONAL FEATURES AVAILABLE:
RELIEF CAVITY

MED—KAS HYDRAULICS, INC.

P.O. BOX 1163

TROY, Ml. 48099

TEL: 248-585-3220

WEB SITE: www.med—kas.com

MAIL:

1.50+

1419 JOHN R
TROY, MI. 48083
FAX # 248 585-0646

info@med—kas.com

e
=

0.31

.343 DIA THRU
2 PLACES

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




DOS PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE _
MK*A—6—4—S—5—
NO. OF VALVES *] T—CONNECT[ON TYPE
DO5 DESIGNATION F — SAE 3000# FLANGE \N
VALVE SPACING
PR & TANK PORT SIZE 0 Yl
CYL. PORT SIZE MATERIAL

S — STEEL ?%

SPECIFICATIONS

"B” DIMENSION
NO. OF STATIONS 2 3 4 5 6 7 3
"A” 5.00 CENTERS 9.31 14.311 19.31 | 24.31| 29.31 | 34.31| 39.31
MTG. HOLES USED 2 MTG HOLES PROVIDED ON EACH END
.
0 #J.T-'-"ff?g —2.25 == 1‘25}— A" TYP.
L) T@ L © 1'i13 138 I
@ C/ @ j— @ [-:] B@ [::] G@ L::} 0@ [::]
® ® ® ®
3.31 ® ® ® ®
@ ~0 % ® ® ® ®
4.19| @ ®®_ 4.50 ;] L::) ] a [::] L::] [::] [::]
L_.@ p ?
2,22~ "A" TYP
00 gl @f o le’ e lob o 0"
2.25 eoe 9®@ Qgﬁ e®e
I' Fare Y
3 e e Y e _© e o ©_ o
450 eeeA @®@A e®eA o®@A
4,72~
0.31 " 1.19 31
PR & TK| A & B GAGE \'_, 3 L
[ SAE FLANGE 750 500 | .437-20 T /\3 C/\ T
STANDARD FEATURES INCLUDE:
GAGE PORT WITH PLUG INSTALLED .343 DIA THRU 343 DIA THRU
MOUNTING KIT CONSISTING OF: 2 PLACES 2 PLACES
2 BRACKETS
4, .312—18 HEX BOLTS
4. LOCK WASHERS 1o \ Naxs
_i__@ 4.50 @___L
OPTIONAL FEATURES AVAILABLE: = ‘ =
RELIEF CAVITY s =205
METRIC THREADS —
0.13

MED—KAS HYDRAULICS, INC.
P.O. BOX 1163 1419 JOHN R
TROY, MI. 48099 TROY, MI. 48083
TEL: 248-585-3220 FAX # 248 585-0646
WEB SITE: www.med—kas.com E—MAIL: info@med—kas.com 5 7

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




MOUNTING KITIJ

DO/ PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE

MK*BE—16—12—*—*—*—% D (Y) PORT IS STANDARD

NO. OF STATIONS
DO7 DESIGNATION

|

PR & TANK PORT SIZE
CYL PORT SIZE—

OPTION BY ADDING AN X
AT THE END OF THE
PART NUMBER

CONNECTION TYPE
P — NPTF

] [ T- INDIVIDUAL X PORTS
ARE AVAILABLE AS AN

MATERIAL M — ISO 6149
S — STEEL BSPP — BSPP
VALVE SPACING

SPECIFICATIONS 4 — 4.000

VALVE MOUNTING

§M10x1.5 & M6x1 THREADS

"B” DIMENSION
4 5

NO. OF STATIONS 1 2 3 6 7 8
["A”] 4.00 CENTERS 4,31 | 8.31 | 12.31 | 16.31 | 20.31 | 24.31 | 28.31 | 32.31
0507} _450 -2.81 ~| | —0.94 p— U -yl 2.81—] 4.50~ ra.so

0.91
o N g —$ ® é ® 4: ® © o| L fia é’"f
@
v ' % o %ae’e & e Y
3_-‘|*3 ® ® ® e ® e ® 3.44
® 431 ® O] . ® . © 4.31] ®
(} ! ® -] [::] -] ‘ 53@

5.50 ) <) ® © ® o ® ® 5.50
L_@ a.?c N
056 - -~ =0.56
1.94 "A"_TYP:

1.44
| @A - .
D).. O © ©
.Bl]@
4.12 @
in
s Qs ©o O
_ PR & TK|] A & B | GAGE D | g0 100
SAE THREAD| 1.312—12[1.062—12| .437-20 | .562—18 0.55 {5—' '——d-}‘;_so
NPTF 1.00-11.5.750-14 | .250-18 | .250—-18 r T
6149 M33x2 M27x2 | M12x1.5 | M16x1.5 / \
BSPP_| 1.00x11|.750x14 | .250x19 | .250x19 | 53! DIA THRU 531 DIA THRU
STANDARD FEATURES INCLUDE: %2 PLACRs
éSAE AND NPT MANIFOLDS ONLY)
AGE PORT WITH PLUG INSTALLED 550\ /550
MOUNTING KIT CONSISTS OF: T Y
2 BRACKETS 6.0 ® &
4, .500-13 HEX BOLTS —"
4. LOCK WASHERS OPTIONAL FEATURES AVAILABLE: —-=‘35'[
RELIEF CAVITY 150} 0.12

5—8

WEB SITE: www.med—kas.com

- MED—KAS HYDRAULICS, INC.
P.O. BOX 1163 1419 JOHN R
TROY, MI. 48099 TROY, MI. 48083

TEL: 248-585-3220 FAX # 248 585-0646

E—-MAIL: info@med—kas.com

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




DO/ PARALLEL CIRCUIT MANIFOLD

SEE TECHNICAL INFORMATION SECTION FOR VALVE MOUNTING DIMENSIONS

MODEL CODE
MK*BE—8—6—S—4—F—*
NO. OF STATIONS *jI T‘CONNECTION TYPE
DO7 DESIGNATION F — FLANGE
PR & TANK PORT SIZE \AiALVEArSOF()jAClNG
CYL PORT SIZE | MATERIAL
S — STEEL
SPECIFICATIONS
"B” DIMENSION
NO. OF STATIONS 2 & 4 5 6 7 8
"A” 4.00 CENTERS 9.50 [13.50|17.501]21.50|25.50|29.50 | 33.50
MTG. HOLES USED 2 MTG HOLES PROVIDED ON EACH END
.
i [18%0 350 L A" TYP.
19950 T 106
i TW@@Q@ L—GL ®© o e o ® © ®
@ @ L] L ] L ] L]
_ ® ge ® go ® ge ® ge
3.63 ® ) ® ® ® ®
= p®€ )(9 453 ® . ® R ® R ® .
5.50 @) @ ® ® ®
A ® ® © © o ® o ®
L‘@ 6.00{,
—~11.13/—
Y PORT IS STANDARD 58] .05 " TYP—|

INDIVIDUAL X PORTS

ARE AVAILABLE AS AN

OPTION BY ADDING AN X 13

AT THE END OF THE i @O@)B ®©®a ® 98 ®®®B
PART NUMBER 250 ®

* @

OPTIONAL FEATURES AVAILABLE:

RELIEF CAVITY $8 @ ® ® ® ® ® ® ®
METRIC THREADS 6P %6 0Pe o0Pe
* NUMBER OF STATIONS TO SUT i A A A A
STANDARD FEATURES INCLUDE: 00— oo L
GAGE PORT WITH PLUG INSTALLED ) Cae
MOUNTING KIT CONSISTS OF: / \
2 BRACKETS
4. 500—13 HEX BOLTS
4. LOCK WASHERS 531 DIA THRU : 531 DIA THRU
2 PLACES 2 PLACES
PR & TK| A & B GAGE D
[ SAE FLANGE 1.00 750 | .437-20 | .562-18 \ /
5,501 5.50
HO || &
MED—KAS HYDRAULICS, INC.
P.0. BOX 1163 1419 JOHN R _ | s
TROY, MI. 48099 TROY, MI. 48083 aiad
TEL: 248-585-3220 FAX # 248 585—0646 150 &
WEB SITE: www.med—kas.com E—MAIL: info@med—kas.com 10 5 9

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE




	5-1
	5-10
	5-11
	5-12
	5-13
	5-14
	5-2
	5-3
	5-4
	5-5
	5-6
	5-7
	5-8
	5-9

